
H1=22.75
H2=18.35

D2=28.90

D1=33.73

D3=9.45

DH=2.3
Hmax =4.4



HL=8.82

HLA=23

y

HLA : Active length 
of the level probe



The Total Volume of the nitrogen Shield =   115.642 L 

x : The LN2 percentage displays on the AMI

The nitrogen shield is not a homogenous shape. Therefore, the volume function is piecewise.

𝑣𝑜𝑙𝑢𝑚𝑒 𝑥 =

34.34 + 0.5423 𝑥 0 < 𝑥 < 68.4 

−24.29 + 1.399𝑥 68.4 ≤ 𝑥 ≤ 100

The AMI percentage corresponds to the total 

volume of the nitrogen shield = 100%  ± error  

The maximum value 60.56% on the AMI was 
scaled to 100%

Vibodha Bandara
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